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GCSE Exam Questions: Powers and Roots

1)

(1)

(2)

(3 marks)

2) (a) Show that 42 = 24 using laws of indices.

(a) Simplify

(b) Evaluate       . Write your answer as a fraction.

(b) Let             . State 3 more values of x where       is a power of 4.

(2 marks)

(1)

(1)

3) (a) Calculate the value of
Express your answer as a power of 10.

(b) Calculate                                             .


Write your answer in standard form.

(4 marks)

(2)

(2)
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GCSE Exam Questions: Powers and Roots

(2)
(4 marks)

(2)

4) (a) Evaluate

(b) Let                 . Calculate       .
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GCSE Exam Questions: Topic Answers

Question Answer Marks

1) (a) Question in full
 Answer in full (1)
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GCSE Exam Questions: Powers and Roots Answers

Question Answer Marks

1) (a) Simplify



 (a) (1)

or

    (b) Let                 . Calculate       .



 (b)

4) (a) Evaluate



 (a)

    (b) Calculate                                             .

Write your answer in standard form.


(b) (1)

3) (a) Calculate the value of                          . 
Express your answer as a power of 10.



(a)

    (b) Let             . State 3 more values of x where     
is a power of 4.


(b) (1)

2) (a) Show that 42 = 24 using laws of indices.
 (a) (1)

    (b) Evaluate       . Write your answer as a fraction.

 (b)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

(1)

Any 3 positive even numbers, 

excluding 4 

12 × 103  
1.2 × 104  
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